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Note .

(1) Attempt as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero mark

will be awarded for each unattempted question.

iy gvll F 89 TN BT U FY | yAE wed 3 (f4) e e
mmaﬁ?a}mwwmmmﬁmmwmmm

A BT

(ii) If more than one alternative answers seem to be approximate to the correct

answer, Ch(J_OS'E the closest one.

o vEite Jefous Sor @d) von & Mo i & O Fracaq 89 STy &

Mark out the External Planet in the solar system :

(1} Jupiter (2) Mars

{3) Venus (4) Mercury
R qved 4 g vE &) Rk SR

(1) gewaf (2) AT

(3) I (4) g

Which one is the Second most distant planet from the Sun ?
(I) Saturn (2) Neptune

(3) Phuto (4} Uranus

T A gEu waw e R 7' Br-war & 2

(1) =f% (2) aBo

(3) HR (4) areu

(1)

P.T.O.
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3.

Who propounded the planetesimal hypothesis of the origin of Earth ?

(1) Kant (2) Laplace {3y Chamberlin {4) James Jeans
ged) & weafer vl wrer) aReenen R wfdofea @) 7
(1) e (2) AR (3) BRfE (4) o S

Name the: scholar who first divided the earth's interior into tiwree zones-Sial,
Sima, Nife :

{1) Molmaoes (2) Dally (3) Jelfreys (4) Suess

s famr wr gy orest wanerny qedt ot erwifer wRear wr A w9 —
feryre, wyay, s A forveg

(1) & (2) =i (3) S (4) I

Who propounded the Tetrahedral hypothesis jo explain the origin of oceans
and continents ?

{1) Lorcl Kelwin (2) Lowlhan Green

(3) Lappworth (4) F.B. Taylar

:f:'rmzm G mrEl Wl swft @ amen &g B aEEos Rigrd ufdafen
R

(1) arg Safam (2) @frm A

(3) ehuan (4) TEo do 2&R

Nappes formations oecur in:

(1} Plains (2) Plateau {3) Mountains {4y Ocean Basins
Hrar @ost @ A aft fvm el &

(1) #grHf A (2) il Ul (3) I v (4) s afyd =

Which one is the longest rift valley ?

(1) Jardon river valley (2) Rhine valley

(3) Dead sea (4) Death valley ol Calilornia
BT TEE TR @R AR 8

(1) At e urdl (2) A =HE)

(3) Ha WrIR (4) @ferpifTn @ o )
Which one of the following is a metamaorphic rock ?

(1} Sand stone (2) Gabbro (3) Gneiss (4} Duolomite
Freifafaa A & @t wy=aiia 9@ & 7

(1) @ref @1 9ok (2) &l (3) AR (&) ErmTEe

(2)
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The Sedimentary rock known as till is related 1o :
(1) Agueous group (Surface water) (2) Acolian group

(3) Karst group (underground water)  (4) Glacial group
feer s arqerd) da fry ot @ wefvg £ 0

(1) st et (gereeT W) (2) argfAfag de af
(3) W Tt (yfirre Wer) (4) RwTdrs o
Metamorphosed sandstone is often known as :

(1) Serpentine {2) Quartzite

(3) Marble (4) Schist

EUTHRE aTEET Teor w7 oyl 2

(1) S9veIs A | (2) gdresiIge e @
(3) WA A W (4) R am A

Mark the Intrazonal soil among the following :

(1) Chestnut {2} Rendzina (3) Chernozem (4) Podzol
Freafafaa 4 9 seamfeada gar @) fafe 29w

(i) Fezae {2) YogSHET () = (4) urEita
Which volcano is known as the "light house of the Mediterranean ?

(1) Pelee (2) Visuvius (3) Stramboli (4} Vulcano
P SATAIPE HHTUTTR BT TR R & 0§ W o @ 7

(1) foeh (2) Rgfrow (3) Tl (4) TrHTN
Which is the correct time of the occurrence of Bhuj (Gujarat} Earthquake ?
(1) Jan. 26, 2001 (2} March 29, 1999

{3) Dec. 11, 1967 {4) October 20, 1991

A (o) § s @) wE fafy g @ 2

(1) w=vast 26, 2007 (2) H1F29, 1999

(3) fewse 11, 1967 (4) aTFTIR 20, 1991

The term "Tsunami” is derived from the language :

(1) English {2) Chinese {3) German (4) Japanese
AT wsrget (B W e @ 2

(1) 3fsh (2) A (3) = {(4) STIEN

(3) P.TO.
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15.

18.

17.

18.

19.

20.

Which one of the following is a block mountain ?

(1) Atlas (2) Black Forest (3) Fujiyama {4) Cincinali
Py=fafaa & & @h7 wifes wda 2 °

(1) TTsH (2) &P BRE (3) wgforarE (4) RERrnd
To which group does the Appalacian mountain belong ?

(1) Caledonian {2) Pre-cambrian (3} Hercinian (4) Alpine
iRere yda e @i Q4 wwy € 7

(1) HereifHu (2) S-afegms (3) wRif (4) reaTEA
Anatolia Plateau is situated in between :

(1) Elburg and Jagros mountains (2) Himalaya and Kunlun

(3) Tarus and Pontus (4) Carpathian and Dinarik
STERTERIT T YN Thd] & me sraldrd B

(1) qegst T A (2) fewrerg vd @A

(3) TR T4 Yrey (4) ®ifras qa feaie

Who first conceived the idea of geosyncline ?

(1) Haug . (2) Hall and Dana

(3) Evanse (4) Kober

=i o) gag TEe Rt wa @7

(1} B8R _ (2) & 3R ™I

(3) g (4) DR

Which one of the following is the highest plateau of the World ?

(1) Plateau of Bolivia and Peru {2) Mexico Plateau

{3) Tibetan Plateau (4) Patagonia Plateau
Pra 4 @ &9 faeg o Tew Fu ger ¥ 7

(1) afefadar @ T& & Uei (2) af¥T®r ®1 e

(3) fraa @1 qUR (4) Tremnfial qer

Which one is a dome-shaped plateau ?

(1) Deccan (2) Ozark

{3) Arab (4) Australian Plateau

BT TER EEHT € 7

(1) T&1 (2) 3D

(3) Ny (4) szl &1 9er
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To which region does the Assam Valley belong ?

(1) Northern Great Plain
(3) Deccan Plateau
FEH B R IRY § W ad f 7

(2)
4

(1) et favmer fem 9 (2)
(3) TP B IR (4)
The 'Garden of Lakes' is example of :

(1) Riverine lakes (2)

(3) Glacial lakes

A arfesr g @
(1) ermer s &t (2)
(3) fewmrfiga shar @1 (4)

River Brahmaputra is a good example of :
(2)
(3) Antecedent Drainage System 4)
SEIYA TG AR G BT Y DT FERT B
(1) uRadt @t (2)
(3) geachi a (4)

Nile river delta belongs to the category of :
(1) Birdfoot Delta (2)
(3) Estuarine Deita (4)
e FE T ISCT WA TGAT

(4)

(1) Subsequent Drainage System

Himalayas
Coastal region

e 9
Ty W

Volcanic lakes
Synclinal lakes

Eeicis el il
=g sher =1

Obsequent Drainage System

Consequent Drainage System

iy srgadt @1
sadl @1

Arcuate Delta
Truncated Delta

AMTHR ST
wftea ST |

Demoiselles (4) Nunatak

baiikaci (4) TeE

Wind deposit

(1) 9TFR Soer A (2)

(3) SURARHE T W (4)

Which one of the following is a Karst Topography ?
(1) Uvalas (2) Spit (3)

Frer & 1 B o el & 2

(1) garam (2) s (3)

Eskar is a landform created by :

(1) River deposit ()

(3) Glacial deposit (4)

(8)

Glacio-fluvial deposit

P.T.O.
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wpe vyt A 2

(1) <) fA8 gy (2) gau e g
(3) fRmr fagy g (4) RErh-orehy Mgy g/
27. Sunda oceanic deep is located in:
(1) Atlantic Ocean (2) Pacific Ocean
(3) Indian Ocean (4) Arctic Ocean
sy Ay Tt R # -
(1) =1 9ETerR o (2) WO HRTTR A
(3) fes wBRITR A (4) spfem A
28, The highest Salanity is found in
(1) Bering Sea (2) Red Sea
(3) China Sea (4) Baltic Sea
wEd 3 sigoren Ped) @
(1) affr a4 (2) & AR A
(3) @= | A (4) ifecs PR A
28. How many times do the spring tides occur in a month ?
(1) Once (2) Twice (3) Thrice (4) Four times
72 A qof @ € s fea AR e # 7
(1) & R (2) T arR (3) 8= ar (4) IR &R
30. Which one of the following is a cold oceanic current ?
(1) Brazil current (2) Gulf stream
(3) Florida current (4) Bangulla current
Py % 9 1 57 W) e 2 7
(1) FTofrel GRT (2) ToF KW
(3) TefeT €I (4) ST G
31. Mark the location of Sargasso Sea :
(1) North Atlantic (2) South Pacific
(3) North Pacific . (4) South Atlantic
Wl wE AW Rafr Rifgw S
(1) To 3 HERATR (2) €o WUTT REMATR
(3) Ve FATT HETATR (4) To IR HEENKR

(6)
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The length of the Great Barrier Reef is about :
(1) 1000 Kms (2) 2000 Kms (3) 3000 Kms (4) 4000 Kms
(1) 1000 fade (2) 2000 fdo (3) 3000f&Me ~  (4) 4000 fF o

Which gas occupies the largest share in the composition of Atmosphere ?

(1} Oxygen {2) Carbon-di-oxide

(3} Nitrogen {(4) Hydrogen

YA B TS A 3w A @7 waw e e ¥ 2

(1) sfiedrem (2) T TTF ITRITE

(3) AR (4) ErERrH

Tropopause is located above :

(1) Stratosphere (2} Troposphere

(3) Ozonosphere (4) Thermosphere

gt Rera &

(1) {9 Av&d & FAX (2) TREET AvSH B IR

(3) N Ao B W {4) AU 7S B HIR

Who first attempted to divide temperature zones on the basis of isotherms ?
(1) Coriolis {2} Ferrel (3) Beaufort (4) Supan
T Ee fa e S wRew o1 e waa Yawit @ s w Ry ?
(1) wiiRarer (2) wxa (3) i (4) o
The westerlies known as 'Roaring Forties' blow in between :

(1) 30"-35° N lat. (2) 30°-35°S lat.

(3) 40°-50° N lat. (4) 40°-50°Slat.

TG ATell AT TG gal gaTy e & ve ged) €

(1) 30°-35"To 3o » TF (2) 30°-35°%0 gjo @ ey

{3) 40°-50° 3o o B ey C(4) 40°-50“ 70 3o B Wy
Brick fielder is a lacal wind of the part of :

(1) USA (2) Australia

(3) Africa (4) Europe

foer Proev vo widrg uge @

() g W™ g &) (2) oifeform o

(3) AT (4) @9

(7) " P.T.O.
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38. Name the clouds lying highest from the ground :

(1) Cirrus (2) Alto-stratus

(3) Strato-cumulus (4) Cumulus

gRTaeT  WaY AfE SErE W U OGN a1 argdl @1 ArA gaigd
(1) we&my (2) ST &)

(3) w8 FIRN (4) Farh

39. In how many groups did Koppen classify the world climate ?
fagg wrerang @ w19 A frersy ot A fenfdg e & 0
(1) 3 (2) 5 (3) 7 4) 9
40. Which letter indicates Dry climate in Trewartha's scheme of classification ?

e ser Pt & SEag-aiie ¥ e FEary B ok e 8 ?

(1) A (2) B 3) C 4) D
41. To which of the following categories do the green plants belong ?
(1) Inorganic elements (2) Producers
(3) Consumers (4) Decomposers
= ush g DY Fra & | farg oot § ey € 7
(1) srifds da & (2) SHEH = |
(3) SyHIFE & (4) REws &
42. What is measured on the Richter scale ?
{1) Depth (2) Heat (3) Earthquakes (4) Wind velocity
Reey whd QT Fa1 AT AT 8 7
(1) e (2) @ (3) ™ (4) =g P I
43. The IHomeland of the Yakutsis:
(1) Iraq (2) Russian Tundra
(3) South Africa (4) Afghanistan
rpe HT HUAT 0 E
(1) @ (2) <fITT gog
(3) o ITPHT (4) BRI

(8)
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Which of the regions is mast important for rice crop ?

(1) Steppes (2) Mediterranean

{3) Prairies (4} Tropical Monsoon

B R urEd B A B g gy eyt 22

(1) =a@ (2) wHe [rTT

(3) HTd (4) ©w1 HiFhy AR

The most imyportant activity of the Tundra region is:

(1) Cropping (2) Cattle rearing (3) Hunting (4) Fish culture
ST WY T W wEeyyl R §

(1) RIS T (2) wy e (3) FTHR @ (4) 7= qrEd
Which region is most famous for citrus fruits ?

(1) Temperate grassland {2} Savanna

(3} Monsoon region (4) Mediterranean region
BT 7Ry g wonf ot wel & fom ey widg 2 7

(1) N g @ Vg (2) |

(3) WIRA wdy (4) WA AT Yo

Which one is not suitably matched ?

(1) Lignite -~ Coal (2) Bauxite - Iron

(3) Kerosene - Petroleum (4) Pyrite - Copper

B gafer 787 & ?

(1) ferrmge — ®wen - {2) diearge — s

(3) AR — Oeifern (4) TTERTEE — etar

The largest producer of long staple cotton is :

(1) USA (2) Egypt (3) China o (4) India
TR Y9 q FUTY BT W I SATRE L

(1) Yo THo Yo @) fra (3) == (@) wra
Which countries are separated by Durand line ?

(1) India and Pakistan (2} Pakistan and Afghanistan
(3) India and China {4) China and Russia

(9) P.T.O.
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FE-G T geve Y 9 R B € 7

(1) e vF gifdherr (2) uithuwrm i semfar

(3) ¥Ra gd A (4) 0= vd w9
50. Which country is known as the 'Sugar Bow!" of the world ?

(1) Inclia (2) Cuba (3) Brazil (4) Indonesia

e vy faza o A an s @ s J e W § 2

(1) @) Fg (3) Awefie (4) gosrRRT
51. The Boundary between Norlh and South Korea is marked by -

(1) Raddilfe line (2) 381h Parailel

(3) 49th Paraliel (4) 17th Paralle]

a8 oo ol wiRm @ ma dom Y awd &

(1) T3 fraw e gri (2) 38 sIre &R

(3) 49 Sel9 gRT (4) 170 Q49 G

52, Cotton fibre is obtained from the part of the plant :

(1) Stem (2) Leaf (3) Fruit (4) Root
GGURS| eI G I
(1) o1 & 2y o 9 (3) e T (4) wg ¥

53. World Silk production is declining mostly due to:
(1) -Lack of Skilled Labour (2) Competition from man made fibres
(3) Lack of Demand (4) Lack of remunerative prices
frra 3§ Ryaw @7 vog« fSwiva: ue 3@ 8
(1) e s8 T @ 4 (2) B (uFagpa) e § sforegt @
(3) Hi ¥ @ A (4) uiRsfie o § fRmEe A

54. The total gevgraphical area of India is about :
(1) 30 Lakh sq km (2) 33 Lakh sq km
(3) 35 Lakh sq km () 25 Lakh sq km
e @l ga AN e ST 8
{1) 30 wra @it AR (2) 33 oy @i )
(3) 35 ¢iig o fE (4) 25 o it fmdr

(10)
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India occupies world area of about
A 1ae deve @ sl e #
(1)~2.4% (2) 3.1% (3) 4.2% (4) 4.3%

When were Indian states first organized on a linguistic basis ?
WIRET T YEell AR ww Al s ue wfla g a7

{1y 1947 (2) 1950 {3) 1952 (4) 1956
The highest peak K2 in Indian territory is located in :

(1) Trans Himalaya (2) Eastern Himalaya

(3) Karakum range (1) Kumaun Himalaya
WIREPT 3-Am | wEs) G ) K2 Reg #

(1) zfa femrery 4 (2) udt fRorem

(3) @amH gof) 3§ (4) | Rererg &

The territorial water of India extends upto nautical miles
Tl ATl Sees wyd S aw der §

(1) 12 (2) IS (3) 6 4) 10
Which of the following rivers tlow through a rift-vallev ?

(1} Yamuna (2) Brahamaputra (3) Narmada (4) Krishna
Frefeflie afeor 4 9 &9 aer w1 @ 2Yav dedt 2 7

(1) e (2) &&Igs (3) aar (4) Twn
Which onie of the tributaries of the Ganga System flows northwards ?

(1) Kuosi (2) Son {3) Gandak {4} Ghaghara
T AN A HERE <Rl A A IR R A aie gzd) & 0

(1) ®re (2) ¥ (3) TvEw (4) e
Which area in India gets the Summer Monsoon first ?

(1} Himalaya (2) Eastern Ghat  (3) Western Ghat (4) Ganga Plain
MRS & %0 AT A dysTaTe e TEd oy @ 7

(1) Ry (2) udt mre (3) uf¥ert wre (4) T BT Faw

Kaziranga National Park is located in :
{1} Uttar Pradesh  (2) Assam (3) Tamil Nadu (4) Kerala

(11) P.T.O.
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63.

64.

65.

66.

67.

T Ty s e @

(1) STR WaY A (2) arm ¥ (3) aficrrg A (4) @Yl A
From which part of the plant is Coffee obtained ?

(1) Seed (2} Flower (3) Stem (4) Leaf
o @ fry 9T < Bh)-wEar e g 8 7 ‘
(1) % & (2) % W (3) @I & (4) wh 8
From which part of the plant is Jute obtained ?

(1) Flower (2) Stem (3) Fruit (4) Root
B & B 9 W e e g g v

(1) T 4 (2) T A (3) v | (4) WE |

The 'Operation Flood' is related wilh :

(1) Flood Control

(2) Provision of [rrigation Facilities

(3) Crealion of Buffer stock of Food grains
(4) Increasing the availability of milk
SR WA R 8§

(1) ars fpmE 3

(2) g syRal @ witer @

() @R @ SRR WER @) @aver |
@) T B guaar 4 ghE FR H

Nagarjun Sagar project is related with the River:

(1) Krishna (2) Godawari (3) Kaveri (4) Tapti
e R gl 79 W ety E
(1) Fwm L {2) TR (3) @ (4) aTh

Which states share the Tungbhadra multi purpose project ?

(1) Karnataka and M.T".

(2) M.P, and Odisha

(3) Andhra Pradesh and Karnataka

(4) Tamil Nadu and A.P.

A o qmaaT aggadta ufdorn # R v €

(1) @ics 1d Ty w8 (2) e WY TE TERA

(3) 3% T_IT UG A (4) afgaarg vd o WY
(12)
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Where is Kalpakkam ? _

(1) Jharkand (2) Maharashira  (3) Gujarat (4) Tamil Nadu
TIFHA FE § ?

(1) zneEve ¥ (2) "ERTE ¥ (3) onm (4) dfeErg
Which of the following has the largest share of power generation in India ?
(1) Hydel (2) Thermal (3) Solarenergy  (4) Nuclear energy
RS R I Serea # e o O Rewa R wad o @ 0

(1) Sreride (2) andry I (3) <R g (4) onfdasm FHort
Which of the following is rot correctly matched ?

(1) Farakka - W. Bengal (2) Tawa - Gujarat

(3) Nagarjun Sagar — A.P. (4) Raipur - Chhattisgarh

frerfoRas 4 & @ gifea 7 8 »

(1) SREET — Yo T (2) Ta1 - Towm

(3) AT AR — Ay Wy (4) ¥R ~ BT

Which Steel Plant was established with German collaboration ?

(1) TISCO - Jamshedpur (2} HSL Bhilai

(3) HSL Rourkela (4} HSL Durgapur
ﬁﬁmmmmaﬁvﬁ%wﬁmﬁwﬁﬁgw?

(1) fewen-ormdiayz (2) THo THo T e

(3) TEe Wio Teo VITEE] (4) = THo Tee gAfGR

The Satellite launching centre of ISRQ is located in :

{1) Thiruvanantpuram (2) Mysore

(3) Thumba (4) Sriharikota

Wit sRe ol HTeT (gwR) @ O weuer P Rer &

(1) fereaagen § (2) R A

(3) g ¥ (4) seReer 4

Bata Nagar is located in :

(1) Jharkand (2) W.Bengal (3) Maharashtra  (4) Tamil Nadu

arer AR Rerg & -
(1) sRQGog H (2) Yo §TTer (3) eI (4) afrerarg §

(13) P.T.O.
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74. Which one of the following is the oldest oil refinery in India ?

{1) Haldia (2) Barauni (3) Digboi {4) Cochin

fopm & Q4 B A W AR JRE ARG BRAET 7

(1) &= (2) N (3) femaid (4) BT
75. Mark the I1.Q. of the North Eastern Railway :

(1) Kolkata (2) Gorakhpur (3) New Jalpaiguri (4) Guwahati

eyl Yo o ey e @i

(1) el (2) TRETR (3) 7Y WEE TE (4) e
76. Where is Meenambikkam airport located 7

(1) Bengaluru {2) Mumbai (3) Admedabad (4} Chennai

Arfagea gad srger oef g & 7

(1) d7ers (2) Jad (3) JEIETETE (4) u=g
77. In which state has the petrochemical industry developed most ?

(1) W.Bengal (2) Karnataka (3) Gujarat (4) Kerala

R =T Y pifEem wrdtre Seim e ofde ek € 7

(1) "o T (2) wHCEH A (3) TR H (4) e A

78. An important feature of the Balance of India’s Foreign trade is :
(1} Itis usually negative
(2) Tt is usually positive
(3) It keeps changing from positive to negative
(4) Itis always in favour of India
ardrg A 2R & gger @ 1 Aeayp g 8
(1) TE WG] FHETS Bl &
(2) UE AT ERD ]l ¥
(3) T8 WeRTHE O Awmens § uRakfa @ vear @
(4) T |AT WNa B U A T @

79. Mark out the state where women out number men :

(1} Tamil Nadu (2) Kerala (3) Karnataka (4) Maharashtra
S oo B fafeed SRR et Rt @) e grWl @ E §
(1) afeETg (2) @A (3) FACH (4) HERI

(14)
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82.

83.

84.

85.

86.

13P/207/6

Tell the decade in which population growth rate was recorded negative :
TE O B Fargd i swe gfy @ gv e o

(1) 1921-31 (2) 1941-51 (3) 1911-21 {4) 1931-41
Where are the Todas found ?

(1) M.P. (2) Tamil Nadu

(3) Rajasthan (4) Arunachal Pradesh

orer waEl frad § 7

(1) "0 wow ® (2) afyearg A

(3) ToRATH (4) GO ARY H

Which of the following crops required a large amount of rainfall but no
standing water ?

(1} Rice (2) jute (3) Tea (4) Groundnut
Py & ey waa ® for amt @ afe i Aty g ot s w# arfey ?
(1) =ga (2) 9 (3) ¥ (4) ror
Cardamom Hills are also known as :

(1) Nilgiri Hills (2) Palni Hills

(3) Annamalai Hills (4) Yelagiri Hills

FTEa (semedl) @ vefsdt 3@ wm B & sl el €

(1) AR et (2) e uETrEl

(3) ar=THaTEs TEfe (@) Ferfak veifeat

The total number of villages (including un-inhabited) in India is about :

(T) 5lakhs (2) 6lakhs (3) 4.5 lakhs (4) 8lakhs
wRa ¥ et @Y g wen (e w ) amm

(1) 5 wra (2) 6 arE (3) 45a™@ 4) 8@

Which of the following towns is located in Chhotanagpur plataeu ?

(1} Bhilai (2) Durgapur (3) Asansol (4) Ranchi
frm =Ry A Q) B BReETTR @ voR W) Rera R 7
(1) P {2) gy (3) RIS (4) <A

Soil that owes its colour to oxide of iron is called :
(1) Regur (2) laterite (3) Bangar (4) Alkaline

(15) P.T.O.
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W,%mmmm?wa%a%eﬁmsgaﬁmwgm%—mﬁmﬁwé:
(1} ¥R (2) dTvEe (3) dfR (4) sTeHe — &R

87.  Which one of the following is not correctly matched ?
(1) Ankara - Angora (2) Malagacy - Madagascar
(3} Tanzania - Tanganika & Zanzibar {4) Malawi -~ Zaire
Freferflan & @ @ yiferg 787 & »
(1) JFHNT — STy (2) wram) — FErIRER
(@) wasntar - Emfher o weflaw (4) wend ~ S

88. Which one of the following is correctly matched ?
(1) Singapore - glass industry
(2) Baku - Coal
(3) Zurich - light engineering industries
(4) Los Angeles — paper/pulp industry
foret & 9 @i WAk 2 2
(1) RiTR — fren ggm
(2) 7%, — wRIe
3) R — e FNfAART e
(4) = e — FPTe U9 el gam

89. Oak, Ashand Beach - are the important species of :
(1) Tropical Hardwood forest (2) Temperate Hardwood forest
(3) Temperate Softwood forest (4} Monsoon Deciduous forest
3, Qo od 4y 79 @ weseyet yonfaet ¥
(1) Sormfeasdiy FoR FFd o 97 @ (2) NAT FOR st T a7 7
(3) Yiaror Yeram FEd) 9t 99 3 (4) YT TS Tl 99 @)

80. Which one of the following countries is the largest Meat Market of the world ?

(1) Argentina -~ (2) USA (3) Australia {4) China

frefeiae & &1 om-wr 9 e o1 we ) 3@ 719 B aomw 2

(1) oo (2) o o Yo (3) aifmm (4) @
91.  Which is a leading country in Sericulture ?

(1} India (2) Japan

(3) China (4) Indonesia

(16)



92.

93.

94.

95.

96.

97.

Yo 3 R arpoft 2w AW @ 7

(1) wrxa (2) smoE (3) 4= (4)
Which one is the largest producer of Coffee ?

(1) Columbia (2) Mexico (3) Indonesia (4)
Fif-ea &1 ALY TS IAED B & 7 -

(1) wataa (2) A (3) TR (4)
Single out the country not producing millets :

(1) India (2) Italy (3) China (4)
B Ao SRS Y S A B Ao Y WY gAB BT -
(1) ¥ (2) TR (3) & (4)
Which is the most widely available type of coal ?

(1} Peat (2) Lignite (3) Anthracite (4)
P o WfavaR SUerE B Arel B e 2 7

(1) dre (2) fwTTge (3) IRITIET (4)
Which is the leading importer of Coal ?

(1) England (2) Japan (3) Turkey (4)

BITS BT AU JTATTH W P & 7

(@) fHar o aen wfvs B 8 7

13P/207/6

g
Brazil

FToiTe

Nigeria
AgATRYT
Bituminous
fagfam
South Africa

(4)%o ITETEHT

(1) gwavg (2) <A (3) TH

Mark out the most widely occurring and most internationally traded mineral in
ore form:

(1) Copper (2) Mica © (3} Iron

(4) Zinc
Aeh @ W9 N wE) ofe &3 ¥ fem aen ok sty w9 sEwe-fatd

(4) ST

(1) ifan (2) U (3) ®E

Which of the following has the largest potential for hydro power generation ?
(1) Asia (2) South Americo '

(3) North America (4) Africa

Frer ¥ © B Te-TiR STares g Waw iferd stad aren € 7

(1) v (2) wliroh aeife

(3) ST IHRBT (4) smprent

(17)
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98.  The most abundant source of energy among the non-conventional sources is -

(1) Nuclear power (2) Solar energy

(3) Wind power (4) Tidal and waves power

wotl () F s-wenend W ¥ e e e @ -

(1) @foges wilam (2) AR Foir

(3) wgw wifdy (4) Iy & @R o™l @ wl
99.  Which is not a tropical Grassland ?

(1} Campos (2} Llanos (3) Downs (4) Savanna

B T efain wm w1 deE FE R 2

(1) i (2) s (3) e (4) Trer
100, Tell which is not correcl Iy malched ?

(1) Pampas - South America (2) Prairie - North America

(3} Steppe - Eurasia {4} Veld - China/fapan

T WA gl FEFE 7

(1) v=Im - o apfies (2) W - Qe aAREr

(3) R4 — v (4) 96 - A /AU
101, Which oi the following is a rock #ot compaosed of mincrals 7

(1) Coal {2} Lime stone (3) Granite (4) Slate

= 3 @ B de Wil | T e & 2

(1) Srara (2) &gy ®&E (3) u=ge (4) wiT

102, Which one is the softest mineral ?

(1} Quartz (2) Topaz (3) Gypsum (4) Talk
BT E e @S 7
(1) =S (2) Erura (3) Fasaw ) Faw

103.  The Survey of India was setup in the year :
TR T v sefie g
(1) 1843 (2} 1767 (3) 1783 (4) 1802

104.  How many lypes of topographical maps were published by the Survey of India ?
e waer fRT gren ey R @ it - prams) mArE st B Ty ?
3 (2) ¢ (3) 5 (4) 6

(18)



105.

106.

107.

108.

Which of the following does not belong Lo the Group ?

{1) India (2) Brazil
(3) China . (4) Japan
B @ w g o (WaE) § wafie ol gy

(1)« . (2) ¥t
(3) & (4) =T

Pierre Vernier devised a special type of ........ :
{1} Projection’ (2) Scale

(3) Diagram {4) Weather map

e affae 3 e g s w e faar

(1) ey T (:]) YR B
(3) N T (4) hew mmiE o

Mark the least populated region :

(1) East coastal regions of North America
{2) South - Asian region

(3) East - Asian region

(4) West European region

W @ wmard) gy @ R SR
(1) St amf¥eT & qdt oy wde

(2) aferl oftrg udw

(3) g v wgw

(4) ufderdt qRifra g

Which is not suitably matched ?

(1) Red Indians - A'borigines of South America
(2) Tartar — A mixed group of peoeple of Siberia
(3) Masai— A Negro type of East Africa

{4) Lapps - People of Furopean Tundra
Frefafas 3 @ B gfr 78 & 2

(1) ¥ gfea=n — = omiRer @ enfew wnfet
(2) eReR — argafrgy st o1 ww g

(3) mard — ydt st @1 v PR W

(4) o — gUftgsl guel & &

(19)
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109.  The Seltlement developing at the confluence of two streams often tends to be :

(1) Rectangular (2) Linear

(3) Triangular (4) Circular

T wiRaRt @ wm R Reiie 89 areh awdt /e o B 2

(1) SIraarasR (2) Y&

(3) Premar (4) MATER
110. Commercial dairy farming originated in :

(1) N. America (2) Europe

(3) S. America (4} Australia

TaTRes gTeT JET WRRT Fawl

(1) So aRe®r A (2) T ¥

(3) o sARa®y A (4) sifedfera 4§

111, An instrument used for determining the difference in elevation between two
points is called :

(I) Clinometer (2) IMygrometer
(3) Planetable (#) Trough compass
a1 fargall (e} & {ra Gurd ¥ o Feffe a9 @ e o9 wgaa g @
(1) Frgrrex (2) EgEriie
- (3) wFREm (4) g% B
112, Which one does not belong to the group of lakes ?
(1) Baikal (2) Superior
(3) Chilka (4) Huron
B A B E @ i T8 R
(1) I&r 2) ghfew
(3) Forcem (4) FF™
113.  Midnight Sun becomes visible only in/on :
(1} Very High altitudes (2) High latitudes
{3} Equator (4) South Pole
my T @ @ P gw gy ¥ :
(1) Tgg At Femgal w (2) 9 s ¥
(3) g Y@ W (4) TRl gya w

(20)
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119.
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Which of the following is not a planetary wind ?

(1) Trade wind (2) Polar wind
(3) Monsoon (4) Westerly wind
frer 4 4 B9 ydly T TR

(1) emuike a1 (2) g &
(3) W (4) T Eam
Rearing of honey bees is called :

(1) Apiculture : (2) Sericulture
(3) Viticulture (4) Pisciculture
WATE WA FEART ¢

(1) ydeER 2) AT
(3 Rdrweax 4) Pfweas

The line joining the places of equal rainfall is called :
(1) Isohaline (2) [sohyet (3) Isotherm (4) Isobath
@Er gyl are Al &1 HEE gl W @1 wEd | 7

(1) omgdRas  (2) 3INIAEFT (3) g (4) aTgEERT

Kanha National Park is located in :

{1) Uttar Pradesh (2) Andhra Pradesh

(3) ‘Madhya Pradesh (4) Uttarakhand

HT7e1 Ty e Rer #

(1) ST wew H (2) oI yew H

(3) meg wow H (4) STRECTS ¥

Which one does not belong to the group ?

(1) Rice (2) Wheat (3) Toria (4) Ragi
T GHE Y g T 8 7

(1) drad (2) % (3) D (4) ¥l

Integral coach factory is located at :

(1) Chittaranjan  (2) Varanasi (3) Jamshedpur (4) Perambur
sudtTer T Qe fean) daed) amferm £

(1) Rrersrm (2) armord) ¥ (3) wHEEQR ¥ (4) TR #

(21) PT.O.
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120.

121.

122,

123.

124,

Which of the following is the great circle ? |

(1) 234N Lat. (2) Equator

(3) 2317s Lat. (4) 66+ N.lat.
= 8 @ a1 T wide (gEega) & 2
(1) 231 9o s (2) e Y

2] —

@) 231" aferel swin @) 661" o awrw

?

Tell the location of Krivoi Rog

(1) Russia (2) Kazakhastan

{3) Latvia (4) Ukraine

falg wr @ amfafe aagy

(1) & (2) @ A

(3) Aefaar (4) FBT

The famous Centre of Silk textile industry Milan is located in :
(1) France (2) Germany

3) Italy (4) Spain

Ve gE SEm ol uig de Pem Rua &

(1) e ¥ (2) W #

(3) gl # (4) = A
Kimberley is famous for :

(1) Light Engineering Industries (2) Jewellery

(3) Diamond mining (4) Silk Production
frmret oy forg wftrg & 7

(1) g Tolifaafdy gapr & R (2) g # foy
(3) &R JogH B 7T (4) YIM Janed @ o
Mac Mahon line separates the nations :

(1) India and Nepal (2) Nepal and China
(3) China and Russia {4) India and China

(22)
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ApHEIT 13 T B AT FRA B
(1) ¥¥a g urd &l (2) |9 qd 99 By
(3} A9 1T & B (4) 9T @ AT B

Which climatic region is situated between 30° and 453° North and South
latitudes on the western margin of the continents ?

(1) China type (2) Cold temperate type

(3) Mediterranean type (4) Monscon type

aEigmy @ ufddl feawt or 30° U9 45° S oftv Sfdofl serret @ wmew i AR
o1 Woarg 9o e 8 ?

(1) 9M g7 (2) T YT JgaER

(3) e Ay g (4) YA TR

The 'Second World' include :

(1) Capitalist industrially developed countries
(2) Countries with centrally planned economy
(3) Developing countries

(4) Least developed countries

oo Reg wafea & @

(1) Fhard) sfrenfres R 2o =

(2) B=rpa Frafaa yekeaazan aret 29 @1
(3) Reeda 2w &t

(4) sreo= Refaa 2w &)

The State of USSR (Union of Soviet Socialist Republics) was disiﬁtegrated in the
year :

Zo T Yo 3Ro MW (Wfga wrafere Rufers da) &1 fowes g § gan -

(1) 1991 (2) 1989

(3) 1993 @) 1979

Which one of the following countries has a centrally planned economy ?
(1) China (2) South Korea

(3) Japan {(4) England

frfafes § & o 3u adga Frafoa sefaaven @ <o @ ?

(1) o (2) wféh wiRar

(3) o (4) gavs

(23) P._T'O.
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129.

130.

131.

132.

133.

The iron ore producing field Mesabi Range is located in

(1} Canada (2) USA

(3) France {4) Mexico

SllE 3t IANET FRA e & A Yo Rerg 2

(1) @rer H (2) go Wo To ¥
(3) wig A (4) ey §
Pittsburg is famous for :

{1} Automobiles (2) Ship building
(3) Iron and Steel (4) Aircraft

firezraet fiver fomr aferg &

(1) wrex miga) 2y (2) wrerar famior &g
(3) elE-geumm 8y (4) argurT By

New England industrial region is situated in :

(1) Continental West Europe (2) England

(3) Latin America | (4) Unted States of Amgerica
%) gTdrg e &y Rua &

(1) #EgrdRr o g A (2) grave A

{3) <ifen smRewr o (4) gE 5y IRt §
Manhattan island is a part of : .

(1) Mumbai (2) New York

{3) Singapore (4) Capetown
FoEEd g e 8

(1) 7ag @ (2) =qaT® H

(3) Rimgz @ (4) PUSTS BT
New foundland consists of the part of :

(1) Brazil (2) Mexico

(3) USA (4) Canada

=] IHITISATE 17T &

(1) sl & (2) RFTH! @

(3) go Tie Yo & (4) HILY H1

(24)
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136.

137.

138.
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The River Rhyne is associated with :

(1) Ruhr Coal Basin {2) Donets Coal Basin

(3) Yorkshire - Derbishire Coal region (4) Appalachian Coal fields

(1) w% wrge R o (2) Q=M (gFEE wua ) 9
(3) TTF TR—SATARR BITA HW T (4) AT BT 69 @

Which one of the following is the most industrilised country of Latin America :
(1) Paraguay (2) Argentina
(3) Columbai (4) Brazil

A smdeE o7 ued ofde sienfres S Hear & 7

(1) e (2) st

(3) @At (4) weie

World Trade Organization started its working w.e.f. on:

(1) April 15, 1994 (2) Dec. 15,1992

(3) Jan.1,1995 (4) Dec. 15,1993

farem =R WeH (8wge o 3Mo) § T wd gH v

(1) e 15,1994 & (2) frmR 15,1992 9

(3) W=adr1, 19959 (4) feamav 15,1993 9
North Transcontinental Railway of USA joins New York with :

(1} Seatle {2) San Fransisco

(3) Los Angeles (4) Dallas

JigeRy ro SRR BT ITR s YerAnt < By Wed @
(1) Rpfea @ (2) QABIRRD A

(3) FUSIe | (4) €™ ¥

The famous gold mining towns — Kalgurli and Kulgardi are located in :
(1) South Africa {2) Canada

{3) Australia (4) US.A.

afdrg ol SeEeE TR — B vd aarel Rer §

(1) sfafr s § (2) wreT #

(3) eferar & (4) o THo Yo H

(25) P.T.O.
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139, Which is the largest producer of paper and paper board ?

(1) Canada (2} Finland
{3} Sweden {4) USA
T Ud U "R TS IR oW 7.

(1) ¥ (2) Fpeeivs
(3) e (4) Jo o o

140.  Which one ol the following is the largest oil refinery of west Asia ?
(1} Tripol (2) Abadan
(3) Tlaifa (4) Aden

o= 31 & @i qived ol @ g e o9 e wreerar

(1) fij"'-fli*jﬁ (2) 2GRt
(3) B (4) ¥

141. Which country has the largest coal reserves ?

(1) Iran (2} Iraq
(3) Saudi Arabia (4) Russia
A AEE B @) e ufd Bu v § g v

(1) €A (2) sviw
(3) WHE e _ (4) Y

142, Bruntland Commission was attached with the idea of

(1) Under development (2) High development

(3) Least development (4) Sustainable development

smeEne weE RARaRT 9 g e

(1) onpi fagm (2) v Rwrg

(3) steray fAwmy (4) wag-a () RE
143.  Wha first advocated the case for the study of population geography ?

(1) Clark (2) Zelinsky

(3} Trewartha (4) Malthus

e qaet s G T B 3gad @ (o adtea e P

(1) v (2) wferem A

(3) Fraert 7 (4) ARy 9

(26)
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Who defined geography as "the study of Areal differentiation of the lace of the

earth"?
(1) L.D. Stamp
(3} Whittlesey

(2) Ilartshorne

(4} Ratzel

e e o ) 9 wag S ANy R~ & spage & wa A qRaifle e & 0

(1) v&o o Wy
(31 Rz

(2) widee
(4) e

Which of the following is the major activity ol Pigmies ?

(1} Herding
(3} Hunting

(2) TFood gathering

(4) Lumbering

ey A 1 a1 Bl @ntt @Y gae (enfdle) fism & 2

(1) TSE =R
(3) R@R

Which is not suitably matched ?
(1) North East India - Jhooming
(3) Malaysia/Indonesia - Nagasu
B gl 78 8 ?

(1) ST yd R — g

(3) sreifman /gusRmr - Fimy

(2) MRy G THA BT

(4) STHS BIET

(2) Srilanka - Chena

(4) Rhodesia - Milpa

(2) HAreidr ~ ]

(4) rsferm — fAzm

The credit of developing the thought of possibilism goes to :

(1) Brunhes
(3) Ratzel

{2) Blache
(4) E.Semple

TRIgare @ AR w7 fRawfyia s e S o &

(1y 451 @
(3) ¥edra &

(27)
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(4) Se W &
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148. Who propounded the thought of Probabilism ?

{1) Humboldt (2) Darwin

(3) O.H.K.Spate (4) G. Tatham

wRTerETe # frarer 1 e afalRea e ?

(1) 9= () sffa

(3) @fic oo Ho WE (4) Tfo e
149. Who edited the book — Geogréphy in the 20th century' ?

(i] Huntington (2) D. Martone

(3) Dickinson (4) G. Taylor

faram — "winmd g7 S QR e e g @y v

(1) sfdTes (2) o e

(3) e (4) Sho oW
1580. Who advanced the principle of terrestrial unity ?

(1) Humboldt (2) Ritter

{3) Ratzel {4) Ritchthofen

mifdg wwen @ g feam et fbar ?

(1) g¥eiree (2) ReR

(3) ¥IToid (4) Rudtpa

(28)
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